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SAT Math Test Problem Children: Complex Numbers
(Part 3)

PROBLEMS

For i =+/—1, what is the sum (2 + 3i) + (4 + 5i)?

For i =+/—1, what is the sum (5 + 2i) + (7 + 6i)?

For i =+/—1, what is the sum (4 + i) + (2 + 10i)?
Fori = +/—1, what is the sum (6 + 4i) + (3 + i)?

For i = +v/—1, what is the sum (7 + 5i) + (—=3 + 10i)?
For i = +/—1, what is the sum (8 + 3i) + (—6 + i)?
For i = v/—1, what is the sum (6 + 4i) + (=7 + 9i)?
Fori = v/—1, what is the sum (=4 + 4i) + (3 + 7i)?
For i = v/—1, what is the sum (=5 + 4i) + (7 — 8i)?
10. Fori =+/—1, what is the sum (=3 + 2i) + (4 — 10i)?
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11. Which of the following complex numbers is equivalent to % ? (Note: i = v—1)

i

A) 5
B) —=
0 -3

D) z+%



12. Which of the following complex numbers is equivalent to 150_—;; ? (Note: i = v—1)

5 71
A =42
10 4
5 71
B) =2
10 4
11 451
c) =X
58 58
11 451
D - -
) 58 + 58

13. Which of the following complex numbers is equivalent to Z;—; ? (Note: i = v-1)

A) 7 _5u
50 50

B) ~+3

c) -

D) 2+

14. Which of the following complex numbers is equivalent to % ? (Note: i = v—1)

A) 13
8 2
B)ﬂ 3i
34 ' 4
C) 41 231
34 34
8 ' 2

“Only he who never plays, never loses.”
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